C-T doubtnut

India's Number 1 Education App

MATHS

BOOKS - R G PUBLICATION

TRIANGLES

1.In A ABC two points L and M are taken in the sides AB and
AC such that LM | | BC and BL=x-3,AB=2x,CM=x-2,AC=2x+3 then

find the value of x.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_WU2YdfIzWXHd

: AD 2
2.1n the given figure DE | | BC\If DB = gand AC=18 cm.then
find AE.
) A
48 cm
E
B C

o Watch Video Solution



https://dl.doubtnut.com/l/_2HI2eBCs5edp

3. In the given figure for what value of x will be 'DE|\|AB?

B

+4

o Watch Video Solution

4.In A ABCD and E are respectively two points on the side AB
and AC.AB=12 cm,AD=8 cm,AE=12 cm and AC=18 cm then show that

DE| | BC.

o Watch Video Solution



https://dl.doubtnut.com/l/_aiHFAnkhasw5
https://dl.doubtnut.com/l/_g5sm1792kcc8
https://dl.doubtnut.com/l/_ttCLBV0G4KHH

5. D and E are respectively the point on the sides AB and AC of a
trinagle ABC such that DE | | BC. Through the point E a line
parallel to CD is drawn which cut AB at the point F then show that

AD?> = AB x AF

o Watch Video Solution

6. ABC is an isosceles triangle with AB = AC and D is a point on AC

such that BC? = AC x CD. Prove that BD = BC

o Watch Video Solution

7.f A ABCis similarto A DEF such that BC=4 cm, EF =5 cm

and area of A ABC = 64cm?. Determine the area of /A DEF

o Watch Video Solution



https://dl.doubtnut.com/l/_ttCLBV0G4KHH
https://dl.doubtnut.com/l/_sHPIj60VHBmL
https://dl.doubtnut.com/l/_hdg1ihOSQNFo

8.In A ABCif AD 1 BC and AD? = BD x DC then prove

that, /BAC = 90°

o Watch Video Solution

9.D and E are two points on the sides AC and AB respectively of

/\ ABC'such that N ADE~ N\ ABC.If

AD=1.9cm,AE=3.6cm.BE=2.1cm.and BC=8.4 cm.find DE.

o Watch Video Solution

10. D is a point on the side BC of a triangle ABC such that

/ADC = /BACShowthatCA? = CB. CD.

o Watch Video Solution



https://dl.doubtnut.com/l/_d9QQNGvYE47I
https://dl.doubtnut.com/l/_cfZJiIOgwh4u
https://dl.doubtnut.com/l/_BV8mDiqORh9G
https://dl.doubtnut.com/l/_3JOgSocgtu40

1. If BD and CE are two altitudes of A ABCprove that
CA CE

AB DB

o Watch Video Solution

12. A BAC and A BDC are two right-triangle on the same
side of the base BC.If AC ans DB intersect each other at a point

Pshow that AP x PC = DP x PB.

° Watch Video Solution

13.1f BD is the perpendicular drawn from the vertex B of the right
triangle ABC to the hypotenuse ACprove that(i)

BD? = AD x DC

o Watch Video Solution



https://dl.doubtnut.com/l/_3JOgSocgtu40
https://dl.doubtnut.com/l/_g6z8sBwU7a4r
https://dl.doubtnut.com/l/_3g5Aqgt685C9
https://dl.doubtnut.com/l/_OxqEHLH6cFND

14.If BD is the perpendicular drawn from the vertex B of the right
triangle ABC to the hypotenuse ACprove that(ii)

AB? = AD x AC

o Watch Video Solution

15.If BD is the perpendicular drawn from the vertex B of the right
triangle ABC to the hypotenuse ACprove that(iii)

BC? = CD x AC

o Watch Video Solution

16. ABC is an isosceles triangle with AB = AC and D is a point on AC

such that BC? = AC x CD. Prove that BD =BC

o Watch Video Solution



https://dl.doubtnut.com/l/_OxqEHLH6cFND
https://dl.doubtnut.com/l/_H0lQ7SIyzSrF
https://dl.doubtnut.com/l/_5NrDsqRyJJX8

17.If AD is the altitudé of A ABC dBD—DA that
. is the altitudeé o an DA—DCprove a

A ABC'is right-angled

o Watch Video Solution

18.D and E are respectively two points on the sides AB and AC of

A\ ABC such that DE | | BC.If (AD)/(DB)=2/3 find (BC)/(DE)

o Watch Video Solution

19. Of the trapezium ABCD, AB | | DC and DC = 2AB. If the line
segment EF drawn parallel to AB meets AD and BC at the points
Fand E respectively so that (BE)/(EC)=3/4 and the diagonal DB

meets EF at the points G, prove that 7FE=11AB

o Watch Video Solution



https://dl.doubtnut.com/l/_Pff629ZrHpGS
https://dl.doubtnut.com/l/_6EHoWpki5NCk
https://dl.doubtnut.com/l/_45clSYxxtMYI

20. AB and EF are two parallel line segments and D is the point of
intersection of BE and AF. C is a point on AE such that
CD | | AB.If AB =6 cm,, EF = 10cm .BD = 4 cm.find the lengths

of CD and DE.

° Watch Video Solution

21. Prove that in two equiangular triangles the ratio of the
corresponding sides and the ratio of the bisectors of the
corresponding angles are equal. [The end-points of the bisectors

are on the opposite sides of the angles.]

o Watch Video Solution

22. Prove that in two similar triangles the ratio of corresponding

sides is equal to the ratio of the corresponding altitudes.


https://dl.doubtnut.com/l/_LfQ3BbbDQLuF
https://dl.doubtnut.com/l/_QDZ0tZKZoLYv
https://dl.doubtnut.com/l/_Ia1M2STIskLF

o Watch Video Solution

23. If two sides and the median drawn to one of these two sides
of a trlangle are proportional to the corresponding sides and
median of another triangle,prove that the two triangles are

similar.

° Watch Video Solution

24. Prove that the ratio of the areas of two similar triangles is
equal to the ratio of the squares of the corresponding altitudes

of the triangles.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ia1M2STIskLF
https://dl.doubtnut.com/l/_w6o3HOW9j64x
https://dl.doubtnut.com/l/_mQbHdNkv45rs

25. Prove that the ratio of the areas of two similar triangle is

equal to the square of the ratio of their corresponding medians.

o Watch Video Solution

26. Prove that the ratio of the areas of two similar triangles is
equal to the ratio of the squares of the bisectors of the
corresponding angles of the triangles. [The end-points of the

angular bisectors are on the opposite sides of the angles.]

o Watch Video Solution

27. Prove that the area of an equilateral triangle with sides equal
to the sides of a square is half the area of the equilateral triangle

with sides equal to the length of the diagonals of the square.

| o Watch Video Solution


https://dl.doubtnut.com/l/_L9UHaIaUEzwR
https://dl.doubtnut.com/l/_vESfRxo2S6rp
https://dl.doubtnut.com/l/_MR80GxUXiwQt

28. Find the length of the hypotenuse of the triangles whose

other two sides are:(i)6cm ,8 cm

o Watch Video Solution

29. Find the length of the hypotenuse of the triangles whose

other two sides are:(ii)24 cm ,7 cm

o Watch Video Solution

30. Find the length of the hypotenuse of the triangles whose

other two sides are:(iii)5 cm ,12 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_MR80GxUXiwQt
https://dl.doubtnut.com/l/_KDxWBtPxSIgI
https://dl.doubtnut.com/l/_RS75grDSPXNx
https://dl.doubtnut.com/l/_QRrosmdUMmWl
https://dl.doubtnut.com/l/_Yt4L0ZrR9tYw

31.In the A ABC, AB =p* — ¢, BC = p* + ¢* and CA=2pq
then prove that A ABCis right angled.Which of the angles of

the triangle is right angle?

o Watch Video Solution

32. Prove that the sum of the squares of the sides of a rhombus is

equal to the sum of the squarea of its diagonals.

o Watch Video Solution

33. Prove that the sum of the squares drawn on the sides of a

square is equal to the sum of the squares drawn on its diagonals.

o Watch Video Solution



https://dl.doubtnut.com/l/_Yt4L0ZrR9tYw
https://dl.doubtnut.com/l/_PmMN7BCJWFXy
https://dl.doubtnut.com/l/_cL5TNvemxko3

34. If one side of an equilateral triangle measures 5 cm,then find

the measure of its altitude.

o Watch Video Solution

35. The sides of a triangle measure 13 cm,12 cm,and 5 cm.prove

that the triangle is right angled.

o Watch Video Solution

36. of the right triangle

AB = a + b, BC = 2+/ab and Zc = 90° Find AC.

ABC,

o Watch Video Solution



https://dl.doubtnut.com/l/_dxdnrss7LLwr
https://dl.doubtnut.com/l/_xutBm3qgvkAp
https://dl.doubtnut.com/l/_1HrzJe8mVdqx

37. Of the right triangle PQR PQ = ax - by, QR = bx + ay and ZQ

=Right angle then find PR

A. Q = one-right

Answer:

o Watch Video Solution

38. A man walked 7 km. to the north and then turning to the east,
walked 3 km.Finally he turned to the south and walked 3 km.Find
the minimum distance between the starting point and the

finishing point of his journey.



https://dl.doubtnut.com/l/_DhGzV5jMuYEj
https://dl.doubtnut.com/l/_Hwd3Rp83AIs2

| o Watch Video Solution

39. ZQof A\ PQR is a right anglelf PQ=4 cm,QR=3cm,then find

the length of the median drawn from Q to PR.

o Watch Video Solution

40. The length of the hypotense of an isosecles right, triangle is

44/2Find the length of its side.

o Watch Video Solution

41. If the length of the diagonals of a rhombusare 10 cm and 24

cm. then find the length of its sides.

o Watch Video Solution



https://dl.doubtnut.com/l/_Hwd3Rp83AIs2
https://dl.doubtnut.com/l/_fLhKOlhYMJYW
https://dl.doubtnut.com/l/_1caipFqKzv6C
https://dl.doubtnut.com/l/_87JLAkoqWgts

42. If the length of one side of an equilateral triangle is 10 cm.

then find the length of its altitude.

o Watch Video Solution

43. If the length of the diagonals of a rhombus are 18 cm and

24cm. then find the length of sides.

o Watch Video Solution

44. If the length of one of the diagonals of a rhombus is 24 cm.
and the length of one of its sides is 15 cm.find the length of the

other diagonal.

o Watch Video Solution



https://dl.doubtnut.com/l/_NDWPSuh3dyep
https://dl.doubtnut.com/l/_qm7DWtQpjTWP
https://dl.doubtnut.com/l/_WQZFG3i9LpJg
https://dl.doubtnut.com/l/_kxi2HsQqKS4V

45.1f ZC of the isosceles triangle ABC is measure 90°, then prove

thatAB? = 2AC°2.

o Watch Video Solution

46. If PS is the altitude on the base QR A PQR,then prove that

PQ* + SR* = PR? 4 QS?

o Watch Video Solution

47.1f ABCD is a square, then show that AC? = 24 B>

o Watch Video Solution

48. The sides of the quadrilateral ABCD are not equal to one

another and AC' | BD prove that AB? + CD? = AD? + BC*



https://dl.doubtnut.com/l/_kxi2HsQqKS4V
https://dl.doubtnut.com/l/_pQ8WvbhD1FLG
https://dl.doubtnut.com/l/_XO58AKlpB3iA
https://dl.doubtnut.com/l/_otq4OEgGWadC

| o Watch Video Solution

49. P is any point inside the rectangle ABCD. Prove that

AP? 4+ CP? = BP? + DP?

o Watch Video Solution

50. Prove that the area of the equilateral triangle drawn on the
hypotenuse of a right angle triangle is equal to the sum of the

areas of the equilateral triangles drawn on the other two sides.

o Watch Video Solution

51. AD is the perpendicular from A and BC of A ABCIf

AB=c,BC=a,CA=b and AD=x then prove that

a:\/bz—m2+\/c2—az2



https://dl.doubtnut.com/l/_otq4OEgGWadC
https://dl.doubtnut.com/l/_cCThakymv0HE
https://dl.doubtnut.com/l/_CTn0COiUTeJE
https://dl.doubtnut.com/l/_o4witZ3S8sHN

o Watch Video Solution

52. Of triangle ABC,/B = 90° and BD 1 AC.F AB=c,BC=a,CA=b

1 1 1
and BD=p then prove that S = 5 Tt
D a c

o Watch Video Solution

53. The square of the length of the hypotenuse of an isosceles

right triangle is 32cm? Find the length of the other two sides.

o Watch Video Solution

54. If one diagonal of a square measures 12+/2cm. find the length

of its side.

o Watch Video Solution



https://dl.doubtnut.com/l/_o4witZ3S8sHN
https://dl.doubtnut.com/l/_zsZDRA4eqg19
https://dl.doubtnut.com/l/_0hu0pEHY7Uc5
https://dl.doubtnut.com/l/_LkbLuz3DHLpK

55. If one side of an equilateral triangle measures 10cm. find its

height.

o Watch Video Solution

56. The perimeter of two similar triangles are respectively 25cm.
and 15 cm. If one side of the first triangle is 9 cm.find the

corresponding side of the second triangle.

o Watch Video Solution

57.In triangle ABC,D and E are points on the sides AB and AC such

that ZAED = /C.Provethat A\ ADE~ /\ ABC

o Watch Video Solution



https://dl.doubtnut.com/l/_LkbLuz3DHLpK
https://dl.doubtnut.com/l/_rFMiXme6LjFK
https://dl.doubtnut.com/l/_rcC8MZe1qFWC
https://dl.doubtnut.com/l/_LPOAHdpdVMPk
https://dl.doubtnut.com/l/_QkvqKTXbSRwT

58. A BAC and A BDC are two right-triangle on the same
side of the base BC.If AC ans DB intersect each other at a point

Pshow that AP x PC = DP x PB.

o Watch Video Solution

59. M is the mid point of the side CD of the parallelogram ABCD.
The line BM is drawn intersecting AC in L and AD produced Prove

that ()AL x LM = CL x BL

o Watch Video Solution

60. M is the mid point of the side CD of the parallelogram ABCD.
The line BM is drawn intersecting AC in L and AD produced at

E.Prove that(ii) EL = 2BL

o Watch Video Solution



https://dl.doubtnut.com/l/_QkvqKTXbSRwT
https://dl.doubtnut.com/l/_Bz9pHrfnYKTH
https://dl.doubtnut.com/l/_0RMmJLIf08lR

61. In trapezium ABCD ,AB| | DC and AC and BD diagonal

intersect at the point E. Prove that (EA)/(EC)=(EB)/(ED).

o Watch Video Solution

62. The bisector of ZC and ZGof two similar triangle ABC and
EFG are meet the side AB and EF respectively at the point D and

H.Prove that A DCA~ A HGFE

° Watch Video Solution

63. In the right triangleACB,/C = 90° and CD 1 AB.Prove

that BC®*  BD
"AC?2  AD

o Watch Video Solution



https://dl.doubtnut.com/l/_0RMmJLIf08lR
https://dl.doubtnut.com/l/_lTMgfpnBuQRw
https://dl.doubtnut.com/l/_x1rQYeOi3IQL
https://dl.doubtnut.com/l/_kPgI4NLBAnN9

64. PA | AC and RC 1 ACsuch that PA=x and RC = z If PC
and AR are intersect at thepoint Q , perpendicular distance from

AC is y then prove that 1/x+1/z=1/y.

o Watch Video Solution

65. If two triangles are equiangular then prove that the ratio of
the corresponding sides is (i)Same as the ratio of the

corresponding sides.

o Watch Video Solution

66. Prove that in two equiangular triangles the ratio of the

corresponding sides and the ratio of the bisectors of the


https://dl.doubtnut.com/l/_kPgI4NLBAnN9
https://dl.doubtnut.com/l/_0syl3Sa2AMoG
https://dl.doubtnut.com/l/_zW98tDl8VJjX
https://dl.doubtnut.com/l/_emYqrFxLIyCi

corresponding angles are equal. [The end-points of the bisectors

are on the opposite sides of the angles.]

o Watch Video Solution

67. If two triangles are equiangular then prove that the ratio of
the corresponding sides is (iii)Same as the ratio of the

corresponding altitude.

o Watch Video Solution

68. If one angle of a triangle is equal to one angle of another
triangle and the bisectors of these equal angles divide the
opposite side in the same ratio then show that the triangle are

similar.

o Watch Video Solution



https://dl.doubtnut.com/l/_emYqrFxLIyCi
https://dl.doubtnut.com/l/_WVeYCceE64Fl
https://dl.doubtnut.com/l/_iQKukhXVpkDh

1. All circles are . (congruent, similar)

o Watch Video Solution

2. All squares are __-. (Similar, congruent)

o Watch Video Solution

3.All___ triangles are similar. (isosceles, equilateral)

o Watch Video Solution

4. Two polygons of the same number of sides are similar, if(a)

their corresponding angles are


https://dl.doubtnut.com/l/_INCa1arUCj5y
https://dl.doubtnut.com/l/_jw4K7rStpwHB
https://dl.doubtnut.com/l/_OYHsFPFe3NiK
https://dl.doubtnut.com/l/_KJPy0gFQXwK2

o Watch Video Solution

5. Two polygons of the same number of sides are similar, if(b)

their corresponding sides are__ (equal ,proportional)

A. (eqiial

Answer:

o Watch Video Solution

6. Give two different examples of pair of{(i) similar figures

| o Watch Video Solution


https://dl.doubtnut.com/l/_KJPy0gFQXwK2
https://dl.doubtnut.com/l/_CJYsZdkYYuNK
https://dl.doubtnut.com/l/_CnbrYowIScSm

7. Give two different examples of pair of((ii) non-similar figures

o Watch Video Solution

8. State whether following quadrilaterals are similar or not:

* 3em .
b _C
R -~ U
b
. ] 1.5cm R
i
o -~
‘ §
5 s & s
] b

- [

F 15am Q A-I B

o Watch Video Solution



https://dl.doubtnut.com/l/_CnbrYowIScSm
https://dl.doubtnut.com/l/_PvzI7Le5XreD
https://dl.doubtnut.com/l/_HupKFmpedigl

9.In fig(i) ,DE | | BCFind ECin (i).

(i)

o Watch Video Solution

10. E and F are points on the sides PQ and PR respectively of a
A PQRFor each of the following cases, state whether

EF | | QR:(i))PE=3.9cm,EQ =3 cm,PF=3.6 cm and FR =24 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_P4Uz0Vpz14UE
https://dl.doubtnut.com/l/_M1jaQlEBKLWW

1. E and F are points on the sides PQ and PR respectively of a
A PQRFor each of the following cases, state whether

EF | | QR:(ii) PE=4 cm, QE =4.5 cm,PF =8 cm and RF =9 cm

o Watch Video Solution

12. E and F are points on the sides PQ and PR respectively of a
A PQR.For each of the following cases, state whether
EF | | QR:(iii)PQ =128 cm, PR = 2.56 cm, PE = 0.18 cm and PF =

0.36 cm

o Watch Video Solution

3. In Fig. , if LM| |CB and LN | | CDyprove that

AM AN
AB  AD



https://dl.doubtnut.com/l/_M1jaQlEBKLWW
https://dl.doubtnut.com/l/_dWbRQblNyukG
https://dl.doubtnut.com/l/_AIJmno4CVm5e
https://dl.doubtnut.com/l/_fCz92i1Wp5hw

N

"heorem) |

° Watch Video Solution

BF BE

14.In Fig. DE||AC and DF||AE.Prove that TE - BC

o Watch Video Solution



https://dl.doubtnut.com/l/_fCz92i1Wp5hw
https://dl.doubtnut.com/l/_VOoPqyBkqprh

15.In Fig. 6.20, DE||OQ and DF||OR.Showthat EF | | QR.

0 Watch Video Solution

16. In Fig., A, B and C are points on OP, OQ and OR respectively

such that AB||PQ and AC||PRShowthat BC | | QR.


https://dl.doubtnut.com/l/_VOoPqyBkqprh
https://dl.doubtnut.com/l/_ygLpwJ0W1yIz
https://dl.doubtnut.com/l/_PdboZ3xoDZ4K

° Watch Video Solution

17. Using Theorem 6.1, prove that a line drawn through the mid-
point of one side of a triangle parallel to another side bisects the

third side.. (Recall that you have proved it in class IX).

o Watch Video Solution



https://dl.doubtnut.com/l/_PdboZ3xoDZ4K
https://dl.doubtnut.com/l/_0OZ6uH6sBZfS

18. Using Theorem 6.2, prove that the line joining the mid-points
of any two sides of a triangle is parallel to the third side. (Recall

that you have done it in class IX).

o Watch Video Solution

19. ABCD is a trapezium in which AB | | DCand its diagonals

. . AO cO
intersect each other at the point O.Show that =
BO DO

o Watch Video Solution

20.The diagonals of a quadrilateral ABCD intersect each other at
the point O such that (AO)/(BO)=(CO)/(DO)". Show that ABCD is a

trapezium.

o Watch Video Solution



https://dl.doubtnut.com/l/_y9GOhTngolRs
https://dl.doubtnut.com/l/_xMHJl9mF5Xru
https://dl.doubtnut.com/l/_L14JLYYkcBMb

21. State which pairs of triangles in Fig. are similar. Write the
similarity criterion used by you for answering the question and

also write the pairs of similar triangles in the symbolic form:

° Watch Video Solution

22. State which pairs of triangles in Fig. are similar. Write the

similarity criterion used by you for answering the question and


https://dl.doubtnut.com/l/_iS5QXZD3kjM3
https://dl.doubtnut.com/l/_KhXoDvWmMc2D

also write the pairs of similar triangles in the symbolic form:

A : ’ F

o Watch Video Solution

23. State which pairs of triangles in Fig.are similar. Write the
similarity criterion used by you for answering the question and

also write the pairs of similar triangles in the symbolic form:

o Watch Video Solution



https://dl.doubtnut.com/l/_KhXoDvWmMc2D
https://dl.doubtnut.com/l/_rdNykAQzcZfh

24. State which pairs of triangles in Fig.are similar. Write the
similarity criterion used by you for answering the question and

also write the pairs of similar triangles in the symbolic form:

D

° Watch Video Solution

25. State which pairs of triangles in Fig.are similar. Write the

similarity criterion used by you for answering the question and


https://dl.doubtnut.com/l/_kGuivz94mBVy
https://dl.doubtnut.com/l/_iHHq8qvQy5gf

also write the pairs of similar triangles in the symbolic form:

D

M

m
-

° Watch Video Solution

26. State which pairs of triangles in are similar. Write the
similarity criterion used by you for answering the question and

also write the pairs of similar triangles in the symbolic form:

D

° Watch Video Solution



https://dl.doubtnut.com/l/_iHHq8qvQy5gf
https://dl.doubtnut.com/l/_MK6hHd0bVG99

27. In Fig.
AN ODC- AN OBA, /BOC = 125° and ZCDO = 70°

/ZDOC, /DCO, and ZOAB.

€

6.35,

Find

° Watch Video Solution

28. Diagonals AC and BD of a trapezium ABCD with AB | | DC

intérsect each other at the point O.Using a similarity ciiterion for

: OB
two triangles, show that =

OoC OD’

e


https://dl.doubtnut.com/l/_pj3RNgka5EPb
https://dl.doubtnut.com/l/_dchZiKuqXg7L

| @ Watch Video S>olution ]

QR QT
QS PR

29. In Fig. 6.36, and /1 = /2Show that

A PQS- A TQR

o Watch Video Solution

30.S and T are points on sides PR and QR of A PQ@QR such that

/P = ZRTSShowthat A RPQ- A RTS

o Watch Video Solution



https://dl.doubtnut.com/l/_dchZiKuqXg7L
https://dl.doubtnut.com/l/_0bdwGr08K3Pt
https://dl.doubtnut.com/l/_j3eUmCihY5LI
https://dl.doubtnut.com/l/_2iRvb91DOqxY

31.In Fig.6.38,altitudes AD and CE of A ABC(lintersect each other

at the point P.Show that:

(i)

N AEP~ A CDP

o Watch Video Solution

32. In Fig.6.38,altitudes AD and CE of A ABCintersect each

other at the point P.Show that:


https://dl.doubtnut.com/l/_2iRvb91DOqxY
https://dl.doubtnut.com/l/_oNtsJNk4pX0X

A ABD- A CBE

° Watch Video Solution

33. In Fig.6.38,altitudes AD and CE of A ABC(lintersect each

other at the point P.Show that:


https://dl.doubtnut.com/l/_oNtsJNk4pX0X
https://dl.doubtnut.com/l/_doA2i1YAwpzq

AN AEP- N ADB

° Watch Video Solution

34. In Fig.6.38,altitudes AD and CE of A ABCintersect each

other at the point P.Show that:


https://dl.doubtnut.com/l/_doA2i1YAwpzq
https://dl.doubtnut.com/l/_MPoESSr5Yf6T

A PDC- A BEC

o Watch Video Solution

35.E is a point on the side AD produced of a parallelogram ABCD

and BE intersects CD at F. Show that A ABE~ /\ CFB.

o Watch Video Solution



https://dl.doubtnut.com/l/_MPoESSr5Yf6T
https://dl.doubtnut.com/l/_uURnCh7aypIK

36. If Fig. 6.3 ,ABC and AMP are two right triangles right angled at

B and M respectively.Prove that :(i) A ABC-~ A AMP

o Watch Video Solution

37.If Fig. 6.3 ,ABC and AMP are two right triangles right angled at

B and M respectively.Prove that :


https://dl.doubtnut.com/l/_hudhPUnvnQou
https://dl.doubtnut.com/l/_JSSNP8A876dH

CA BC

PA  MP

o Watch Video Solution

38. CD and GH are respectively the bisectors of
/ACB and ZEGFsuch that D and H lie on sides AB and FE of

A ABC and A FEG respectively. If A ABC-~ A FEG.show

AC
FG

thats() 22
(i =
HeH

o Watch Video Solution



https://dl.doubtnut.com/l/_JSSNP8A876dH
https://dl.doubtnut.com/l/_GOkNqmyFuy8p

39. CD and GH are respectively the bisectors of
ZACB and ZEGFsuch that D and H lie on sides AB and FE of
A ABC and A FEG respectively. If A ABC~ A FEGshow

that:(ii) A DCB~ A HGE

° Watch Video Solution

40. CD and GH are respectively the bisectors of
ZACB and ZEGFsuch that D and H lie on sides AB and FE of
A ABC and A FEG respectively. If A ABC~ A FEGshow

that:(iii) A DCA- AN HGF

o Watch Video Solution

41.In FIg. 6.40, E is a point on side CB produced of an isosceles

triangle ABC with AB=AC.If AD | BCand EF | AC, prove that


https://dl.doubtnut.com/l/_hdjkBUeRLzEb
https://dl.doubtnut.com/l/_xDV2cLPruQ7g
https://dl.doubtnut.com/l/_ErdEqtxVKI7R

AN ABD~ A ECF.

o Watch Video Solution

42. Sides AB and BC and median AD of a triangle ABC are

respeetively proportional to sides PQ and QR and median PM of


https://dl.doubtnut.com/l/_ErdEqtxVKI7R
https://dl.doubtnut.com/l/_oUOoJSsrmSuq

A\ PQR(see Fig. 6.41). Show that A ABC-~ A PQR.

! P

o Watch Video Solution

43. D is a point on the side BC of a triangle ABC such that

/ADC = /BACShowthatCA? = CB. CD.

o Watch Video Solution

44, Sides AB and AC and median AD of a triangle ABC are

respectively proportional to sides PQ and PR and median PM of


https://dl.doubtnut.com/l/_oUOoJSsrmSuq
https://dl.doubtnut.com/l/_wxk1EeqzGpMz
https://dl.doubtnut.com/l/_PsqZuBwrK17g

another triangle PQR.Show that A ABC-~ A PQR.

o Watch Video Solution

45, A vertical pole of length 6 m casts a shadow 4 m long on the
ground and at the same time a tower casts a shadow 28 m

long.Find the height of the tower.

o Watch Video Solution

46. If AD and PM are medians of triangles ABC and

PQOR,respectively  where AN ABC-~ A PQRprove  that

AB  AD
PQ  PM

o Watch Video Solution



https://dl.doubtnut.com/l/_PsqZuBwrK17g
https://dl.doubtnut.com/l/_0QXWliV2ygCg
https://dl.doubtnut.com/l/_lwGxJ9qg8gEA

47. Let A ABC- A DEF and their areas berespectively,

64cm? and 121em?If EF=15.4 cm,find bc.

o Watch Video Solution

48. Diagonals of a trapezium ABCD withAB | | DC intersect
each other at the point O.If AB=2 CD/ind the ratio of the areas of

triangle AOB and COD.

o Watch Video Solution



https://dl.doubtnut.com/l/_8QU1AMgTp0UI
https://dl.doubtnut.com/l/_tTzaKOubfhaz

49, If Fig.6.44 ABC and DBC are two triangles on the same base

. ar(ABC)  AO
BC.If AD intersects BC atb O,show that =
ar(DBC) DO

o Watch Video Solution

50. If the areas of a similar triangle are equal,prove that they are

congruent.

° Watch Video Solution



https://dl.doubtnut.com/l/_DKVxDdSswFQC
https://dl.doubtnut.com/l/_arf5jbdbWTSL

51. DE and F are respectively the mid-points of sides AB,BC and CA
of AN ABCFind the ratio of the areas of

A DEF and A ABC.

o Watch Video Solution

52. Prove that the ratio of the areas of two similar triangle is

equal to the square of the ratio of their corresponding medians.

o Watch Video Solution

53. Prove that the area of an equilateral triangle described on one
side of a square is equal to half the area of the equilateral

triangle described on one of its diagonals.

o Watch Video Solution



https://dl.doubtnut.com/l/_xMLVrymlAO33
https://dl.doubtnut.com/l/_3UxUmi7ANh4l
https://dl.doubtnut.com/l/_pzbp2J74QLHB

54. ABC and BDE are two equilateral triangles such that D is the

mid-point of BC.Ratio of the areas of triangle ABC and BDE is

a)2:1b)1:2c)4:1d)1:4

A2:1

B.1:2

C.4:1

D.1:4

Answer:

o Watch Video Solution

55.Sides of two similar triangle are in the ratio 4:9.Areas of these

triangle are in the ratio

a)2:3b)4:9¢)81:16 d)16: 81


https://dl.doubtnut.com/l/_E3NkJ7ACb6wm
https://dl.doubtnut.com/l/_FmEttsmGmlRz

A2:3

B.4:9

C.81:16

D.16:81

Answer:

o Watch Video Solution

56. Sides of triangle are given below.Determine which of them are
right triangles.In case of a right trianglewrite the length of its

hypotenuse.(i)7 cm,24 cm,25cm

o Watch Video Solution



https://dl.doubtnut.com/l/_FmEttsmGmlRz
https://dl.doubtnut.com/l/_3DBm5OQCKPxs

57.Sides of triangle are given below.Determine which of them are
right triangles.In case of a right trianglewrite the length of its

hypotenuse.((ii)3 cm,5 cm,6 cm

o Watch Video Solution

58.Sides of triangle are given below.Determine which of them are
right triangles.In case of a right triangle,write the length of its

hypotenuse.((iii)50cm,80 cm,100 cm

o Watch Video Solution

59.Sides of triangle are given below.Determine which of them are
right triangles.In case of a right trianglewrite the length of its

hypotenuse.((iv)13 cm,12 cm,5 cm

| o Watch Video Solution


https://dl.doubtnut.com/l/_IDCkDrTaeGRT
https://dl.doubtnut.com/l/_lDlCY8ScTIbL
https://dl.doubtnut.com/l/_4Dm7yh3oIAFT

60. PQR is a triangle right angled at P and M is a point on QR such

that PM 1 QR.Showthat PM? = QM. MR.

o Watch Video Solution

61. In Fig.6.53,ABD is a triangle right angle at A and AC | BD

Show that


https://dl.doubtnut.com/l/_4Dm7yh3oIAFT
https://dl.doubtnut.com/l/_bIXuUb5q8iO4
https://dl.doubtnut.com/l/_1yjlxumScDla

AB? = BC. BD.

° Watch Video Solution

62. In Fig.6.53,ABD is a triangle right angle at A and AC | BD

Show that


https://dl.doubtnut.com/l/_1yjlxumScDla
https://dl.doubtnut.com/l/_9EKaesXrjMx5

(i)

AC? = BC. DC.

° Watch Video Solution

63. In Fig.6.53,ABD is a triangle right angle at A and AC | BD

Show that


https://dl.doubtnut.com/l/_9EKaesXrjMx5
https://dl.doubtnut.com/l/_Vj49kJR5WMUR

(iii)

AD? = BD. CD.

o Watch Video Solution

64. ABC is an isosceles triangle right angled at C.Prove that

AB?* = 2AC*.

o Watch Video Solution



https://dl.doubtnut.com/l/_Vj49kJR5WMUR
https://dl.doubtnut.com/l/_n4DabVflDrLu

65. ABC is an isosceles triangle with AC=BC.If AB®> = 2AC? prove

that ABC is a right triangle.

o Watch Video Solution

66. ABC is an equilateral triangle of sides 2a.Find each of its

altitudes.

o Watch Video Solution

67. Prove that the sum of the squares of the sides of a rhombus is

equal to the sum of the squarea of its diagonals.

o Watch Video Solution



https://dl.doubtnut.com/l/_n4DabVflDrLu
https://dl.doubtnut.com/l/_eMdkdeV7hvRB
https://dl.doubtnut.com/l/_ISctzCTQm7Is
https://dl.doubtnut.com/l/_H9k4dvh4Xtts

68. In Fig.6.45,0 is a point in the interior of a triangle ABC,

OD 1 BC,OF L AC and OF 1 ABShow that

C
(i)

0OA% + OB?> + OC? — OD? — OE? — OF? = AF? + BD? + CE?

o Watch Video Solution



https://dl.doubtnut.com/l/_oqm7PPltV3ag

69. Fig.6.45,0 is a point in the interior of a triangle ABC,

OD 1 BC,OF L AC and OF 1 ABShow that

AF? + BD?> + CE? = AE? + CD? + BF?

o Watch Video Solution



https://dl.doubtnut.com/l/_jjfTmLkwO8tx

70. A ladder 10 m long reaches a window 8m above the ground.

Find the distance of the foot of the ladder from base of the wall.

o Watch Video Solution

71. A guy wire attached to a vertical pole of heigh 18 m is 24 m
long and has a stake attached to the other end. How far from the
base of tho pole should the stake be driven so that the wire will

be taut?

o Watch Video Solution

72. An aeroplane leaves an airport and flies due north at a speed
of 1000 km per hour. At the same time another aeroplane leaves

the same airport and flies due west at a speed of 1200 km per

1
hour. How far apart will be the two planes after 1 (5) hours?.


https://dl.doubtnut.com/l/_lNIq13UhcY2d
https://dl.doubtnut.com/l/_1hfKhxEWJfeZ
https://dl.doubtnut.com/l/_HyusyG1wZgfx

o Watch Video Solution

73. Two poles of heights 6 m and 11 m stand on a plane ground. If
the distance between the feet of the poles is 12 m, find the

distance between their tops.

o Watch Video Solution

74.D and E are points on the sides CA and CB respectively of a
triangle ABC right angled at C.Prove that,

AE? + BD? = AB? + DE>.

o Watch Video Solution

75. The perpendicular from A on side BC of a A ABC intersects

BC at D such that DB = 3 CD (see Fig. 6.55). Prove that


https://dl.doubtnut.com/l/_HyusyG1wZgfx
https://dl.doubtnut.com/l/_xYUMeDevBKRn
https://dl.doubtnut.com/l/_2y7i1ipOZuKp
https://dl.doubtnut.com/l/_aHiPpxCq7RgO

2AB? = 2AC? + BC?.

o Watch Video Solution

76.1n an equilateral triangle ABC, D is a point on side BC such that

BD =1/3BC.Prove that 94 D? = 7AB?

o Watch Video Solution



https://dl.doubtnut.com/l/_aHiPpxCq7RgO
https://dl.doubtnut.com/l/_oEBaEKC8ROTc

77.1n an equilateral triangle, prove that three times the square of

one side is equal to four times the square of one of its altitudes.

o Watch Video Solution

78. Tick the correct answer and a justify :In
N ABC, AB = 6,/3, AC = 12c¢m and BC=6cm.The angle B is
a)120° b)60° ¢)90° d)45°

A.120°

B.60°

C.90°

D.45°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_fZ3MFDkCBjJz
https://dl.doubtnut.com/l/_qCegubZV0U6d

79. In Fig.6.56,PS is the bisector of ZQPRof /A PQR.Prove that

Q5 _ PQ
SR PR’

o Watch Video Solution

80.In Fig.6.57,
l#.D is point on hypothenuse AC of A ABC,such that
BD 1 AC,DM 1 BC and DN | AB.Prove that (i)

DM? = DN. MC

S |


https://dl.doubtnut.com/l/_qCegubZV0U6d
https://dl.doubtnut.com/l/_C5za5oeQXvmJ
https://dl.doubtnut.com/l/_rD6iOyAaCTjJ

| & Watch Video Solution

81.In Fig.6.58,

D : B C

triangle in which ZABC > 90° and AD 1 CBproduced.Prove

that AC?> = AB? + BC? + 2BC. BD.

o Watch Video Solution



https://dl.doubtnut.com/l/_rD6iOyAaCTjJ
https://dl.doubtnut.com/l/_Pk7inieRm9P6

82.1n Fig.6.59,

triangle in which ZABC < 90° and AD | BC.Prove that

AC? = AB? + BC? — 2BC. BD.

o Watch Video Solution



https://dl.doubtnut.com/l/_DO5YMwxOrItL

83. In Fig.6.60,

B C

AD is a

median of a triangle ABC and AM 1 BC.Prove that :(i)

BC\?
AC? = AD?> + BC. DM + (T)

° Watch Video Solution



https://dl.doubtnut.com/l/_E57ZMS9OGUcY

84.In Fig.6.60,

B C

AD is a

median of a triangle ABC and AM 1 BC.Prove that :(ii)

BC\?
AB? = AD? — BC.DM + (T)

° Watch Video Solution



https://dl.doubtnut.com/l/_C8dNyvuorrJg

85.In Fig.6.60,

B

AD is a
median of a triangle ABC and AM 1 BC.Prove that :(iii)

1
AC? + AB? = 2AD? + 5302

o Watch Video Solution



https://dl.doubtnut.com/l/_FdDdWDbVrsLN

86. In Fig.6.61,

two chords
AB and CD intersect each other at the point P.Prove that :(i)

AN APC~- A DPB

o Watch Video Solution



https://dl.doubtnut.com/l/_dZuxcS8ABDNi

87.1n Fig.6.61,

two chords
AB and CD intersect each other at the point P.Prove that :

(ii)PA.PB=CP.DP

o Watch Video Solution



https://dl.doubtnut.com/l/_EeIKvPvefBOX

88.In Fig.6.62,

two chords
AB and CD of a circle intersect each other at the point P(when

produced)outside the circle.Prove that (i) A PAC~ A PDB

o Watch Video Solution



https://dl.doubtnut.com/l/_q92wd40wsPMi

89.In Fig.6.62,

two chords
AB and CD of a circle intersect each other at the point P(when

produced)outside the circle.Prove that (ii)PA.PB=PC.PD

o Watch Video Solution

90. State basic proportionality theorem.

o Watch Video Solution



https://dl.doubtnut.com/l/_FDnvMK6oy0wu
https://dl.doubtnut.com/l/_GLC0UBG1dzn3

91. In the adjoining figure,

—C DE| | BC

and AD=1 cm,BD=2 cm.What is the ratio of the area of A ABC'to

the area of A\ ADE?

o Watch Video Solution

92. The areas of two similar triangles are 169cm? and 121cm?
respectively.f the longest side of the larger triangle is 26 cm.what

is the length of longest side of the smaller triangle.



https://dl.doubtnut.com/l/_GLC0UBG1dzn3
https://dl.doubtnut.com/l/_MmIisC1oYs5M
https://dl.doubtnut.com/l/_AcpQY8cSheLD

| @ Watch Video Solution

93. If A ABC and /A DEFare similar triangle such that

/A =57° and ZFE = 73° ,what is the measure of ZF?

o Watch Video Solution

94. If the altitude of two similar triangle are in the ratio 2:3 what

is the ratio of their areas?

o Watch Video Solution

95. State Pythagoras theorem.

o Watch Video Solution



https://dl.doubtnut.com/l/_AcpQY8cSheLD
https://dl.doubtnut.com/l/_nVwyBZLuwths
https://dl.doubtnut.com/l/_MzIjtrmBuVXh
https://dl.doubtnut.com/l/_dokLSUGRcJdm
https://dl.doubtnut.com/l/_pvb26vGw5VaK

96. The lengths of the diagonals of a rhombus are 30cm and

40cm.Find the side of the rhombus.

o Watch Video Solution

97. In an isosceles A ABCif AC = BC and AB? = 2AC*?

then what is the measure of ZC?

o Watch Video Solution

98. What is the height of an equilateral triangle having each side

12 cm?

o Watch Video Solution



https://dl.doubtnut.com/l/_pvb26vGw5VaK
https://dl.doubtnut.com/l/_h7j2hrGcneU9
https://dl.doubtnut.com/l/_kvkgFzn4royT

99. Sides of two similar triangle are in the ratio 4:9.Areas of these

triangle are in the ratio

a)2:3b)4:9¢)81:16d)16: 81

A.16: 81

B.81:16

C.4:9

D.2:3

Answer:

o Watch Video Solution

100. A ABC- A DEFsuch that ar
( A ABC) = 36cm? and ( A DEF) = 49cm?®Then the ratio

of their corresponding sides is


https://dl.doubtnut.com/l/_e3OaIMEglUXM
https://dl.doubtnut.com/l/_RI4HPLJ54tcT

A6:7

B.7:6
C./6: /7

D. 36:49

Answer:

o Watch Video Solution

101. A ABC and A DEFare two equilateral triangle such
that D is the mid point of BC.The ratio of the areas of triangle ABC
and BDE is

Al:2

B.2:1

C.4:1


https://dl.doubtnut.com/l/_RI4HPLJ54tcT
https://dl.doubtnut.com/l/_4lnimtWXoyaH

D.1:4

Answer:

o Watch Video Solution

102. Two isosceles triangles have their corresponding angles

equal and their areas are in the ratio 25:36.The ratio of their

corresponding heights is

A5:6

B.6:5

C.25:36

D. 36:25

Answer:

| o Watch Video Solution


https://dl.doubtnut.com/l/_4lnimtWXoyaH
https://dl.doubtnut.com/l/_Yfqv5OEEJ7aM

103. If D,E,F are the mid-point of sides AB,BC and CA respectively of

A then the ratio of the areas of triangles /A DEF and ABC is

Al:2

B.2:3

C.1:4

D.4:5

Answer:

o Watch Video Solution

104.Ina A ABC, ZA = 90° AB=5cm and AC=12cm.if AD | BC

then the value of AD will be

2,/12

a)60/13 cm b)1/60cm c)13/2cm d) 13

cm


https://dl.doubtnut.com/l/_Yfqv5OEEJ7aM
https://dl.doubtnut.com/l/_9Spc1LBOEmMF
https://dl.doubtnut.com/l/_Gn71U2t3F6gH

A.60/13 cm
B. 1/60cm

C.13/2cm

212

b 12
13 cm

Answer:

o Watch Video Solution

105. In an equilateral triangle ABC if AD | BC thenAD?=
a)CD? b)2CD? ¢)3CD? d)4CD”

A. cd?

B.2CD?

C.3CD?

D. 4C D?


https://dl.doubtnut.com/l/_Gn71U2t3F6gH
https://dl.doubtnut.com/l/_yI9Syu5ds4IG

Answer:

o Watch Video Solution

AB

BC

106. If in A\ ABC and /A DEF

/N ABC~ /\ DEF when

A /B = /D

B./A = /D

C/LA=/F

D./B=/F
Answer:

"DE ~ FD

then

o Watch Video Solution



https://dl.doubtnut.com/l/_yI9Syu5ds4IG
https://dl.doubtnut.com/l/_1XHtV0QjiLoR

107.1n an isosceles A ABC, ZC = 90° .If AC=6cm then the value
of AB will be _ -
a)écm b)2\/gcm c)4v/2cm d)6+/2

A. 6cm

B.2,/6cm

C.44/2cm

D. 6+/2

Answer:

o Watch Video Solution

AB BC CA
108. If in A ABC and A PQR we have OR = PR = PQ

then


https://dl.doubtnut.com/l/_ABe1yPTvdKmm
https://dl.doubtnut.com/l/_nfEuKmPz6kJt

A. A PQR- A ABC

o

. A PQR- A CAB

C. A CBA- A PQR

D. A BCA- A PQR

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_nfEuKmPz6kJt

